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>>>de f

mult (x, y):
result = x % y

return resul:-t

>>>print (mult (2, 4))
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>>>de f

calc area (r):
area = 3. 14 % r %%

return are€ea

>>>print CHMEZ, calc_area (4))
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>>>de f

grade_check (kokugo,

if kokugo >= 80 and
print (&)

el se:

print CAERE)

-+grade_check (70, 80)
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>>>def pay__tax (( )
tax = 1. 08
pay = tanka * suryo * tax
return ( )

>>>pay = pay__tax (500, 3)

>>>print (int (pay))

1620

2. tanka, suryo&pay
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>>>def pay_check (age):

charge = 1500
1f age <= 6:
( )

return charge

>>>print (pay__check (6))

1000
ZZ2. charge=charge—500
¥/mlireturn charge—500




